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PART I / Wt I
CHILD DEVELOPMENT AND PEDAGOGY / arer fresra & Premmvmex
Directions : Answer the following questions by | R39 : REfeiEa yoat & sor 27 & fore wt/a=ad

selecting the éorrect/most appropriate option. Ffarm ey giiT
1. Dysgraphiaisa: 1. feanfear:
(1) Speech disorder characterized by (1) U uor e & et ferdar swemn
stuttering and errors in articulation. 3 ST i 3@1" FETR |

(2) Locomotor disorder characterized by
gross motor impairment.

(3) Neurological disorder characterized by
trouble in forming letters and shapes.

(4) Psychological disorder characterized by
lack of attention and impulsive
behaviour.

unusually rapid pace is known as :
*(1) Differentiated instruction

«(2) Enrichment

(3) Acceleration

(4) Immersion

classrooms : 3.
(i) Create curriculum adaptations
(i) Incorporate diverse perspectives
(iii) Examine their own implicit bias
(iv) See diversity as an obstacle .
Which of the above are correct ?

(1) (), (i), (iii), (iv)
1(2) (1), (1), (iii)
(3) (i), (iii), (iv)
(4) (i), Gii), (iv)
4, While agencies of soc¢jalisation are

predominantly  important in infancy,

agencies of socialization | also
become important in early childhood.

(1) tertiary; secondary ! '
(2) primary; secondary
3 secondéry; primary
(4) secondary; tertiary

(2) @Tﬁgﬁﬁﬁﬂ%ﬁﬂﬁﬁ'ﬂwmﬁ

C Uyt R |

'@#ﬁzﬁaﬁw%ﬁuﬁﬁﬁwmﬁ
IR AP R A T FE R |

(4) T HAATI e @ foraeht farerwar s
T 3TVTT 3 TS TTER 2 |

gieTaT sreet S R e %7 9 S 3=
AW F § i T & wrgE=t & areaw |
T QT &, T FeATdT & 2

(1) Taafe fdem «

(4) fagsH

TRrereh Tt wmaeft Famel f R A s @ §
I AT R g

(i) IS H SLH -

i) farferer gfvenron & snfier =Y -

(iii) 9 T o SaFied et ST
(v) fafraTeim s srdsg

394 H A H-H T E 2

1) (), Gi), (i), (iv)

’ (@), (i), (iii)

(3) (@), (iid), iv)

4) (D), (iid), (iv)

SreraTereT U WHTSIHOT 6y et
TG F9 W AE €, Seh TR ST
# gHTSHieRT M‘ﬁqﬁq;\uf
AT E |

(1)  qelieh; ATEAfTeR

. mﬂﬁﬁ‘?,m&ﬂi

(3) wreRfieR; yrafies

(4) TTEATHE; et
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According to Lev Vygotsky )

(1) Social factorg
development,
development,

Influgnce

1
but Rk anguage

cognitive
(2) Cognitive : develOpment

language development facilitates

(8) Language developmen;
development adv

each other. A

' and  cognitive
ance Independent from

(4) Language development

s f 3 K
cognitive development, acilitates

At which level of Lawrence Kohlberg’s moral

reasoning, do Fhildren typically believe that
people should live up to the expectations of the
society and behave in “good” ways ?

(1)
(2)

Post-operational level
Pre-conventional level

Conventional level

4)

Pre-operational level

Read the following statements and choose the
correct option :

Assertion (A) :

Interaction with more knowledgeable others,
such as teachers and peers, can provide tbe
necessary support and guidance 'to heilp
learners develop their understanding @d

skills.

Reason (R) :

Social jinteraction is a key comP
learning and development.

(1) Both (A) and (R) are false.

is the
(2) Both (A) and (R) are true and (R) 18
correct explanation of (A).

Both (A) and (R) ar-e true,A)
the correct explanation of (3

(A) is true, but (R) is false: :

onent of

(3)

(4)

but (R) is not|

(8)
8.
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P-UA
(1) AT e sy g = N
¥, vt e e
AT | |
@) T e it st e ga-awt
W &9 R ¥ 5
@ ™ few, s B @ g
TR |
it HiEae % i ad ¥ R 'R W, 3=
HTHAR W A & o6 it oy ot i sy
R G AT AT K “or=d” adiat & Sa=r
AT AT ?
(1) ST-GFITeT &R
(2) YH-IRIRH &R
® v &R
(4) TE-HsRaTHH WX
frafafaa weet & ufer aon wdft fasew =1
Wﬁﬁl’q:
e (A) :
& WY e, R w1 ST awe s
I g #0 # 758 F % I sraws
T ST e e AR 8 |
FR (R) :

A Gk g i R T T

HeH R | ! ‘

(1) (&) 3R @ A TEEE|
(A) 3R (R) S T E AT (R), (A) T wE
TR |

@) (A) 3 R A T E TG R®), A) #i
gt e Tt €

@ (&) w@E T @ T
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What is the main goal of ‘assessment for
learning’ ?

(1) To identify students who
categorised as ‘slow learners’

can be

(2) To ‘evaluate student performance and
assign grades
(3) To provide feedback to students that can

be used to improve their learning

(4) To compare student performance to a

standard or benchmark

At which age can children engage in word play
and like jokes and riddles that involve a play
on words ?

(1) Twelve years
(2) One year

(3) Three years
(4) Seven years

Carol Gilligan has eritiqued Kohlberg’s theory
of moral development :

(1)
(2)
(3)

from a social cognitive perspective.
from a feminist perspective.

for not giving adequate importance to

genetic factors.
(4) for using case study as the research
method.
One of the main characteristics of
pre-operational thougbt cording to Jean
Piaget is which refers to the
tendency to focus on @ne aspect of a situation
and neglect others.
(1) Causation
(2) Centration
(3) Decentration
(4) Transduction

8.

10.

11,

(3)

2

& farenffat & wgam wEr 5

Hraw ardl & &9 # arffpa i s e

4

@) faemeff % yauf &1 qeaiwT F o iz
|
forenfdfat 1 wfagfe wem # Foma
ST 3 arfepm & guw % forg o s
ThaT B

() ot % yexiv fit g O A AT 97
A HET

fore o1y & a2 Wil & @t  wftet & g

3R T Fegdt o Rt @ geie # gy §

oI wrset ot Wet it & 2

(1) SREay

2 THay

’ frad

(4) waay

e T 3 wigeent % e frr  fagia

f AT R -

(1) WIS GMETeHe R & |

| “arferm % forg arrarer” @1 e TR AT R 2

(1)

@ g

(3) HATARTEH FRI I GAT HEw T 2 @ |

(4) FH AT F FTEUN TS % w7 o
T A F forg |

ST et o gaR qo-wfsrarere fiaw it geq

fomiyareit # & T & s et

fRerfer 3 Teh TEe] W T hind A 3R gl hy

I0ET A T Taf h Hee R R |

(1) HT-GROTTH T Fergeeur (o e ety

EBR ]

ferdhsfiat

Qo

(4)
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In early childhood, growth and thinking

s while in midd]e childhood, growth
" did and thinking ig

. f;;?c:fl somewhat egocentric; is steady,

is staady ]
logical

is steady, logical: slows, egocentric
slows, logical; is steady, egocentric

@ somewhat egocentric;

slows,

3
4

Which of the following is a gross motor skill ?

(1) Knitting b

(2) Swimming .

(3) Cutting along the outline of a circle on a
paper

Cutting along the outline of a big
rectangle on a paper

(4)

Physical growth and development follow the

and principles of
development.
(1) integration (simple to  complex);

differentiation (complex to simple)
cephalocaudal (top-down); proximodistal
(inner to outer)

proximodistal (top-down); cephalocaudal
(inner to outer)

differentiation (simple' to
integration (complex to simple)

(2)

3)

complex);

4)

Acc""diﬂg to Howard Gardner, a philOSOPher
has type of intelligence and a
Sculptor has more _ type of
intelligence.

(@) linguistic; interpersonal
(2) spatial; intrapersonal

@) intrapersonal; spatial

) P-I/A

12. ST e § gfy ot

8, saf qer aremEen # oy
3R T 21

1) T, 55 58 9% arenhfaa; e 8, e
. T R, o w2 o anefa; o, afdben
3) R, arfdes; dovft, srendhfea

(4) ol arfhen; fRew }, sl

13, frafafaa § & F-ar wy@ nfes e & 2

1) T

O =

(3) T FUTS T I I FILET & SFTAR HeAT
(4) TF FFN W F 98 AGq Hl W@l &

FTHT HTeAT

it afg oi Fommm, e &,

I - RgdiF e FR g

(1) THE (W o Sfew); v @it

: q T) &

Q) siimit (@i, whve (it ¥
amedh)

3) uifiyey (rEUE); wmh (etiafE @

) i '

@) o (wee @ S, whew (wfew
guE)

14.

15, TEE MEW F UK, Th RS F U
yaR A gfg AR g F aw
ehTC T e T AT TR Beft R |

(1) wfYe; Sjqdafhs
2) Reem; a=te
‘ﬁa:arﬁﬁ;ﬁa@m

4) interpersonal; linguistic
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Experiential learning stresses on :

(1) control of teacher on the learning of
children.

(2) the role of reinforcement in learning.
(3) importance of critical reflection.

(4). learning as a product rather than a
process.

Which of the following is an effective method

to enhance problem-solving skills in children ?

(1) Discouraging independent thinking and
focusing on declarative knowledge

(2) Encouraging them to avoid difficult
problems !

(3) Providing them with ready-made
solutions to problems

(4) Giving them opportunities to brainstorm
and make intuitive guesses

Read the following statements and choose the
correct option :

Assertion (A) :

Teachers should create a meaningful
environment which seeks active participation
and engagement of all children.

Reason (R) :

All children are intrinsically motivated to
learn and are capable of learning,

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the

]

correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(4) (A) is true, but (R) is false.

Which of  the following process
does not contribute to the course of learning ?

(1) Organization
(2) Categorization

(3) Conceptualization

16.

17.

18.

19'

(4) Decont.éxtualization

FwaTeTs JferT R A AT g 2

(1) et 3 AAftrm 9T Rveges 3 frior ot

(2) e & grefer it st ot
eI Sfefsie ¥ gew |

(4) T AT & ST T Y O IR F
®9 1 3@ 9T

Sedl § QURIT-EETY PRI # agH F fou

freferfiaa o @ sg-ar gt a2 2

(1) @Wdx figa # sdcfed & 3
SUITeHh J1H T ST higd T

(2) ST gHET ¥ =1 F fore 3% Ytz
H{AT :

(3) I THEATAY T MR GATH IqeTod FTH]

‘ o€ fg WM T I e ST T F

TG ST

Frafafad oAt @ afew qur wdt e &

Wﬂﬁﬁq:

AYHI (A) :

Trerehi w1 TTeleh ATATET SEET AR e af

=i oh! AT YFIRRY 3R Gerar &t |

IO (R) :

ft 73 stiafer w9 & ey ¥ forg ST & €

FRHdEI T gem B & |

(1) (A) IR (R) AT TTT & |

O (A) IR (R) BT @l € @ (R), (A) FT FE
TR | ,

@) (A) 3R (R AT T, TG (R), (A) AN
et T 7E 2

4) (A) TR, W (R) T |

Arafafag § ¥ wE-d gk siftrm F S
e TE T ' 2

(1) WA

(2) afeRtor

(3) A=fiawar
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Which of the following j5 45 example of a
question that requires studentg to reflect on
their own thinking ?

(1) What is the relationship between nouns

and verbs in a sentence ?

(2)
8

What is the definition of a verk 2

How do you change a verb to the present
tense ?

(4) How has your thinking about the uge of

verbs changed since the beginning of the
class ?

Which of the following is an example of an
internal attribution for failure ?

(1) I received a low grade because the
teacher is a tough grader.

(2) I failed the test because I didn’t study
enough.

(3) I didn’t get good marks because the
teacher was biased.

(4) 1 failed the test because i:‘ny friends were
distracting me.

Read the following statements and choose the
correct option :

Assertion (A) :

At a very early age, girls in most cultur.es
across the world choose dolls as toys while
boys prefer to play with cars.

Reason (R) : '
Children organize information about what 18
considered appropriate for a boy or a girl on
the basis of what a particular culture expects

and behave accordingly.
(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true &
correct explanation of (A).

Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

nd (R) is the

3)

(4) (A) is true, but (R) is false.

CLICK HERE TO JOIN TELEGRAM
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P-I/A

20. Frfafed & & a1 v 4w 1 EE@r

et fernfefat = sl v o R wl $t
STTIHAT Bt & 2

(1) o H E i B & e Fr deg 2
2 BT afomrarde
(3) AT T3haT i adam F1er § F g9 g

&7
O

HET 1 YT § Forarat o I & an
JATIH! T 4 Feelt & 2

frefafaa & @ -t fAwaar F foe sl

STRIYYT ST U IS & 2

@ T3 = B2 e ger wifs Rrers HAN
T & el & |
# e & e & T it 4 T 9T

EEE

@) fireren & wamaTelt € % HROT A =S Ik
T fored |

(4) B qlem o %o & T ik W IRA
S TH R Y | s

frafafaa st it ofey qur wdt faweq =1

Wiﬁlﬁmz

SR (A) :

a@mwﬁ,gﬁmmﬁaﬁmwﬁﬁﬁ

Tefrat fean A faei & w0 & St € wafw

A FA H AT ToTEEHRAe |

@RY (R) :

Fe forelt fordie el it STdEmedl & Stmam

T TS T wigeh! 3 foTQ T ST HHT Srel ¢,

T A i e oraftd i § Ik IuF

FTER TER HA & |

(1) () 3R AT |

@ wsh@IHET®, @F @
AT R |

@A) 3 R) 31 T E, T (R), A) #
e T 7E 2 |
() T ¥, T (R) T 8 |

(3)

(4)

"l
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R, (8) %}
ag amieeh & , el
2. As per Lev Vygotsky, plays a 28 A ¥ fwE # W
significant role in the development of : 'Y
conceptual abilities among children. !!
(1) Tangible rewards (1) 7T
(2) Peer collaboration @ e wE
(3) Social isolation (3) GRS AT
(4) Standardized curriculum (4) ThHIRA TTIGIHH

24. According to Lev Vygotsky’s theory, inner

spoech : o4, o aTEICER ¥ Rigia % SITAR, A a1 :

(1) is a way for children to communicate with (p sl & %‘Q T BRI A F WY
an imaginary friend. @Wﬁﬁ@mgl

(2) is a sign of cognitive immaturity. . (2) TFHETHS A=A T T € |

(3) 1is a sign of developmental delay. (3) AT N HT R T |

(4) is a way for children to regulate their own

O =i e s 9= o Eba s F
TH A R |

thmkl.ﬂ.g‘ i -

25. Four-year-old Aparna says that a button is
alive because it helps tie her shirt together.

According to Jean Piaget, her thinking is|25. TR ¥ ’ﬁ' srquit FEdt ® R o e ffer @

characterized by : Fiifeh 7 Jaht T8 Y U HrY AT § wee Tl
(1) Transductive reasoning ? | S R & orgaw, et drg Y fmredt
2) Animistic thinking e
(3) Centration (1) YOS a6
(4) Hypothetical-deductive thinking @ Shaaw e

) 3) S

26. Which of the following is a typical @ - .
characterstic of students having autism ?

" . . . EBUREL
(1) :1;;:1';; ability of differentiating fiction 26. fFforfian & @ wefaar a Pt
(2) Advanced socio el

-emotional reciprocity (1)  SHEYAT hl qe W HAT FA A D
(3) Frequent repetitive

s and  recurring A2) I G- MTeTeeh TRt
our

. HI-SAT SrETre 3K HTad] ATER

(4) Higher level of communication skills

(4) __HaTE STl T Iod T
CLICK HERE TO JOIN TELEGRAM
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correct option :
To facilitate critical thinking among learners
)

teachers should expose them to diverse
situations and differing perspectives,

Reason R):

stgdentﬁ ‘leam and enrich their abilities to
think mtnca.lly and creatively as they engage
in conversations across differences,

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the
" correct explanation of (A).

(3) Both (A) and (R). are true, but (R) is not
the correct explanation of (A).

(4) (A)is true, but (R) is false.

The primary goal of learning should be :
(1) memorization of facts.

(2) becoming excellent at rote rehearsal.
(3) competing with peers.

(4) development of critical thinking.

Children learn more effectively if a concept
proceeds from :

(1) Generic to Specific.
(2) Abstract to Concrete.
(3) Complex to Simple.
(4) Rational to Empirical.

Variability in learning styles of students :
(1) should be valued and seen as 2 reflection

of human diversity-

hould be
(2 : ed and attempts 8 :
) should be ignor . learning

made to bring uniformity 1

styles. )
(3) should not be taken int® conside

during teaching-learning process.

ration

nce

‘ (9)
97. Read the following statements and choose the

. 1 a
(4) ghould be seen as a parrier and hindr

to teaching-learning proces®:

CLICK HERE |m
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217. ﬁﬁﬁf@ﬂmﬁﬁqﬁqmmﬁmw‘

9+ e

YA (A) :

v

w & fou, ot 7 o faf offeafért

3R fafir=T gftriott & avara o anfi

R (R) :

s fereneff fafdy neet & e ara=fa & dem

B & A A HerETeE S AT T @

drem A A grarel B digd o w9g Fa

gl

1) (A E) AL

() (A) 3R (R) 3T @t & 99T (R), (A) FT G
EAT 2 |

@ () IR ®) W & E, wG ®), @) H

| g gl

@ (AT, TR T

- Preforfaa § & i s i T AT

BT A1(6T ?

(1) T AT

(2) IS AE FH ok AT H SHE T

") TEERRE % ar et
T foa o

=Y g T @ ¥ a9 diEe € Ak 8

-

STFEITOT ;

' = 3 fafire A R SR 2 |

(@) o aud s e ]

@) e & ot i A g €|

(4) T Y I AT R |
ﬁmﬁfﬁﬁn‘\@ﬁ?ﬁﬁ%ﬁﬁﬁﬁw:

(1) e R ST ey S A e
3 whrfRier 3 w0 8 3 S e |

£ sy & S TRe A e f
St 1§ T oA 1 S R S

(2)

21 faror. e SRR ¥ A S 3 T

@ Fhr
@ AT R N
@ aﬁﬁtm-muﬁm&maﬂ‘m

aﬁmﬁ%@imaﬁql
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Directions
selecting the correct/most appropriate option.

31.

(

#

10)

PART 11 / Wt 11
MATHEMATICS / mfora

kL
: Answer the following questions by | R . Pt wod & T 37 F Y a#

sfm fies 9T |

Which of the following statements about|o.  fyraferfire # & -8 ot e 1 9 %

nature of mathematics are most appropriate ?
A. It helps the child to be creative.

B. It helps in nurturing the child’s

imagination.
C. Itis based on deductive reasoning.
D. It is always convergent.
Choose the correct option :
(1) A BandC
(2) BandC
(3 AandC
4 AandB

To develop appreciation for mathematics

among children, a teacher performs the

following activities in the class. Choose the

one which is nmot effective to achieve her

objective.

(1) She always praises the student who
achieves highest marks in the class in the
term-end examination.

(2) She shows to children the videos on
Indian mathematicians apq theis
contributions.

(3) Bhe gives mathematica] puzzles and
magic squares 0 be solved in the class.

(4) She establishes a mathematics corner in

her class where students can perform
various mathematieg] activities.

2 gl 3 § 7

A ﬁaﬁﬁmaﬁﬁmm
2

B, I8 = Y SeuAT &1 it A H gEEal
FATR

C. ﬁmﬂm%%m(aiﬁ)qtmr&a%t

D. FEeNwmAREHAaT |

udt fawea gl :

@ A BIRC

2 BIRC

@) A3RcC

(4) A3IRB

82. s=ai § i e # fFsfid +9 # fog,

T refent fReforfaa nfafaftat syoet s o

FAT & | FTH € I8 T A 3qF IevT F 7T

W gvrE 78T ')

O = s ou Fanff f www wd S
FHYT § = TeT § aud Al 3w W
FAT/H B |

(2) 98 F=dl & WRAE ThEg ok I
IrTeEY % difea feard 2 |

(3) o ¥ M geforat iR w1gs @ &
F0y % RTo A 2 |

(4) I AU T H us MO FIAT SR
2 sref wt et fafv nftredve nfafafiet

————

L ——— .
SPACE FOR ROUGH WORK / T ®1d & fere wvig
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(11) P-I/A
ich of the followi "
33. grh;ect? OWIng statements is mot |88, [AFTIREA Fuat # & er.or adr 78F 22
(1) Errors of the students give i - 1y frenfifat 7% drn B ahE
about their thought pmcgss_ iiEmetion ﬁ?ﬁéa“‘ A F Srrehr 3§ |
@ ﬁf,'fxffngm mathematics are part of (@) T W s{feat st v e @t € 1
g Errors in mathemat: (3 Tor & {feat Rrarent A 3% i Ay s
( SAsitiig fusir l:Sm&tlc help teachers in mﬁﬁWW%l
sons. Frenfert Eﬁ?ﬁ
overlooked as pointing errors  will Fifh IR A R T T oA
demotivate them. 4T |
: : . oo % SR § Prefafad § @ SE-ar FF
84. Which of the following statements is not " ST 22 A 19 B
correct about assessment ? i
(1) - Norm-referenced assessment ; : (1) -G oM Yere qhgor iR
! . ; nt is useful in ‘
diagnostic testing and remedial teaching. ST, Rreor & 3T 2 |

(2)

Criterion-referenced assessment is to
evaluate the mastery learning of the
students.

Criterion-referenced assessment is useful
in diagnostic testing and remedial
teaching.

Norm-referenced assessment tells us
where a student stands as compared to
other students in his/her performance.
Mathematical learning material :

A. helps teachers in demonstrating the
formulae.

helps students in self-learning. -
helps teachers in providing instructions.
develops learning environment in the
class.

Choose the correct option :

(1) Cand D

(2) Aand B

(3) BandD

4 :
zcoz;ligd; the National Educatio_n' Poh?y
(NEP) 2020, .olympiads and competmons in
various subjects will be
country.

(1) made easier

(2) strengthened

(8) discouraged

(4) reduced
\~;

@)

(4)

B.
C.
D.

across the

(2) WHEE-uenia e faenfat i siferm
# fguraT i1 g HETE |
W gremrere R § S R |
@) WHE-Hehia ke g warr @ f6
¢ foemff o weviw & o= feenfela
¢ gEmHER EgUEgiRl
35. T SrfenTe |
A g ven i R H ves wd R |
B, @q: afrm § foafiat Hraeg i R |
¢ iy iReemi o]
D. wam ¥ Ifrm ardeRer & i we |
; T TR |
Gﬁﬁwgﬁq:
(1) C3MWD
2 ANB

8 B 3R D

Th
&

B3R C

36, TS e A (NEP) 2020 3 STAR, 3951 &

it fwgt # oifRiftars ok wicanfiand
il
BW
ATl
(3) EdIcaTRd

(4) HH,
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Concepts like more-less, long-short, far-near,
big-small, etc. are :

(1
@)

Vague terms for comparison.

Antonyms, not necessary for learning
mathematics.

Simply English language adjectives.
Important pre-number concepts.

3)
4)

According to the National Curriculum
Framework, 2005, classroom researches have
indicated a fairly systematic devaluation of
girls as incapable of mastering mathematics
even when they perform well in mathematics.

What is the most appropriate reason for this ?

(1) Poor performance of girls in mathematics
is due to the fear of mathematlcs

prevalent in them. ;

(2) Mathematics,r by its nature, -is a
male-dominated subject.

(3) Gendered constructs of society have: led to

the belief that boys use more innovative
strategies for problem-solving and thus
have better conceptual understanding.

The mathematical abilities in bo‘}s are
innate. ' -

(4)

" Classroom researches have shown that most’of

the students find mathematics more difficult
than the other subjects they study in the same
class. Which of the following aspects of the
nature of mathematics adds to this fear ?

(1) The vast knowledge base of mathematics

(2) The scope of multiple answers to a given
question in mathematics

(3) The scope of a number of different
methods to solve a problem in

mathematics

(4) The abstract nature of primary concepts

in mathematies

38.

39.

il
g7, wifores.ehw, wreaT-@rer, L-EHI, qg1-BIeT, A
oy :

(1) g ¥ g swmg veE € |
@ fem s & st @@ F fw

STavaH A8 € |
@) e wreat & aidsht st e € |

O e s f-wR) ST € |

TS YAt FET, 2005 % AR, HEAA

¥ S R e ity & F el @ it

3 “RrfiSTar % A T A I BT FARIT

mﬁm%m&%wﬁmﬁmw

A |

TEhT HeTd STYTH HRIT RS 2

(1) Tt § el @ aue geiq 39 i

¢ FHYfayafid ¥ F RO ST |

T, STt Wl SR €, qew-wae faw

gl

gaTs it foim Heet amond 39 /=ar A

AR A It & % Ao gue-guyE

el F FRfIRET sy ea € ik

%ﬂﬁr@eééwaawmmiﬁﬁ

: |

(4) - TSHI H MU &THATE ST=ASTTd & |

Fardt ey 77 suila & for srfremier femeff wftm

Y 4T T § S 37 fawg A v &, I it

e arga § | i i wepla 1 Frefofae &

Y -9 T8 §H ¥ I Qa1 8 ?

(1) TIfOT =T o IH-sfem

(2 TR A T T W9 F e IK BN H
ST

(3) TIOTG W forelt T T gETEH e ¥ R
% ITET-3TT JOTTer hl saTaehar

(2)

T § gt sEumonel fir orgd
St
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(13) P-VA
o among the following : 2
40. gellld of mathematical astxinoﬁyv??orked i mmﬁﬂ |i€; P IR I 0
() Bhaskara I ‘ iV
(3) Ramanujan (2) SrERUI
vegetable seller was selling spinach for . = wfer foram 3 T
4. kg. Sonu Praach fO) 4, o WSl suel ST 1T, € 60
7 60 per kg purchased 350 g of spinach 9 e gesft
for which the vegetable seller took o | G 3 350 T greeh fan ek
1T6 +T6 + T¢ FAAATEA]AT21 (T 6+T6+T6+% 3)
T 2 + ¥ 3) from Sonu. L
ich of the following sta - fru | TSt A= IR U A A AT T
Whi g statements is/are true 3
regarding the mathematical skills used by the R e ey § Fefafes § @
A. This mathematical skill is ambiguous. A T T S TR
B. This Skﬂ'l is not useful to solve ' Ewwﬁwwﬁwm
mathematical problems in class. B. . %{q :[g’f% l
C. Such skills help in developing alternate AT - & & A ¥
strategies for solving mathematical @ I "h,l ﬁf“ T ! e 3
problems. aaii%'q. % alh e
Choose the correct option : . B
(1) Aand B wﬁm%ﬁq .
(@ Only A (1) - A3RB
(3) Only B (2) HAAA
(4) Only C s o (3 wEAAB
: : depicts a situation (4) *ad C
2. Which of (e B eonstructing knowledge on | gy frerfefiae # & F-ah ot am e s
‘ far g R we ?
their own ? : ed JH A o 3
(1) The best student in the class rea:ts ;'1(;:1}111 (1) HE T S/ & ﬁajﬂlf iE:{E;
the multiplication tabl'es and re i IS BIE ® 3ﬂ'( reht
students repeat after }.,_unfher- Itiplication ‘ﬂ%ﬁ@&lﬁﬂ@%l
() Children are reciting M4 (@) T U T T AT ml%% |
tablesina choruS: . ives like ® S 1 e el S gl
3 Children are €VeD T T, ranged in fire, TR WO § s it
number grids, 1, v are exploring & 78 ¥ 30 3 TR AT F O b A
tectenp R arraa);S rns using them let cleRead
iplication P - : ete q‘iﬂ% fa
@) 'rru:;z;fel:ca has _WIiY Iﬁlackll?oc:rlgp“ i Wﬁ e[qg@ aﬁwmq'sq{ W{‘\tqt ﬁ@ﬁ%ﬁ
multiplication tables on the tables by 3
hildren are completiné wEI
i them on blackboarc:
writing the SR ROUGH WORK / T ad 3 feT T8
\—u__

SPACEF
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Which of the following is the most appropriate
way to help a primary school learner visualize

2
the equivalence between the fractions 3 and

-3
6

(1) Using Division method

(@ Using LCM (Least Common Multiple)

method

(3) Using Fraction Discs

(4) Using Calculators

A  teacher wuses role play method in
mathematics class. Her aim is :

(1) keeping children busy.
(2) projecting ideas.

(3) entertaining children.
(4) maintaining discipline.

Subitizing plays an important role in
developing the number sense. Which of the
following is an example of a student
demonstrating the skill of subitizing ?

(1) Student recognizes the number § as 1
added to 5.

Student rolls a die and is able to say it ig
four without actually counting the dots.

2)

(3) Student recognizes the number 4 as the

number with 1 taken away from 5.

(4) Btudent recognizes the number 5 ag the

successor of 4.

43,

45.

Pl i & e grafees PEET ¥
ol #1 fusg 2 ahe 4 3 ofrr g A
mmﬁmgﬁmgﬁmmh
(1) Tavrer (vimm) faftr % g

(2) T wHEe faft w5 uanm

. =t fen 1 3ugim

(4) FTFAEU H I9qT

o Rifret i e ¥ e = (pftrr Frafe)

fafer &7 SwmT et B | SEwT R R

(1) a1 ) F&T & |

‘ foraml =1 afedym |

(3) Sl T AR |

(4)  SATITET ST W& |

He Ay Tl w0 § Svr @fieshm

U WEwqo! fteer fvret ¥ ) Rrafefas §

#-mm%a‘rﬁmﬁﬁam%m

T YST FAT R 2

(V) foremeff s 6 i veam 5 7 1 ey F g
H AT |
(S1eH) I i1 7 s/ & waw @ S qr 9)
gl

(@) foremeff wean 4 i vew= 5 ¥ A 1 Ry
FEIHFEAT R

(4) %anﬁﬁwsaﬁrqﬁmz;%maﬁ%m
EEGIRA
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CLICK HERE TO JOIN TELEGRAM



https://t.me/UPTETCTETsuper

https://t. ne/UPTETCTET super

(16)

priyadarshini mixed  4-8kg of almonds,

P-VA
46. fefiif 3 48 kg wram, 2500 ¢ Rrwfm s
gfmlfgw mﬁ% aar @ fmor ¥
ik lhy mggumm
(1) 660g el )
(2) gggs 3.y £
85002 F—QJ&

47. @aﬁﬁgms.cm% @ ol i g
gt w & W, @& T deea R T @
Iwm? . o ¢
(1) 8T 2
@ 27N

s
4 TN

foffen @ § & fewd wft fowmd
FArpfcrt & ?

(1) H:Iv W’ sﬁj‘qﬁfﬁ

(@ M, ¥, g9, IS

@) ¥, o™, 6, BYE

@ =, T, T, S

it v @ed @l =wd ®,
€10 ¥ | 3% T T qiw ¢ w1 R
2 U T F fEh 3R 5 TEE 94

48.

49.

L F w wd % fo o Pt et
T B 2 Lo
(1) T 250 5 '
Z 0-50 %
(3 T 150 q-Y
4) T 200 :
50. g3 gu A & fml % wg = i

(2)

A
A

- A =
N e R e

(3

A
DO | = QO = DD

4)

A

Col bDO| - DO x|
A

46. Al
9500 g of raisin and 3:5 kg of cashews and
packed the ml?‘ture equally into three dozen
packets. What 15 the weight of each packet ?
(1) 6508
@ 2508
@ 3008
@ 500 8
47. Theside of a square is 5 cm. How many times
will the new area become, if the side of the
square is doubled ?
(1) 8times
(2) 2times
(8) 3times
(4) 4times
48. Which one of the following groups have all
3-dimensional shapes ?
(1) Cube, Cuboid, Semi-circle, Cone
(2) Cube, Cuboid, Circle, Cone
(3) Cube, Cuboid, Circle, Triangle
(4) Cube, Cuboid, Sphere, Cylinder
49. Sangeeta wants to buy a soap that costs T 10.
She has a five-rupee coin, 2 one-rupee coins
and 5 fifty-paise coins. How much more money
does she need to buy the soap ? :
(1) ¥2-50
(2) ¥0-50
(3) £1-50 -
(4) ¥ 2-00
50. Select the group of fractions in an ascending
order :
@ r 1.1
4 3 2
@ 1 1.1
2 4 3
@ L .11
2 3 4
@ 1 1.1
' 3<1°%
\\-‘

. 8
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What is the missing number in the pattern
given below ?

1,6,15, 45, 66, 91
(1) 36
(2) 28
3 32
) 25
Read the following table :
Blood Group | Number of Students
A 9
B 6
0 12
AB 3
| Total 30
What is the ratio of the most common and
rarest blood groups ?
(1) 1:4
(2) 1:3
3) 4:1
4) 3:1

Which of the following statements (As not

true ?

(1) A kite becomes a rectangle if its opposite
angles are equal.

(2) A rectangle becomes a square if all its
sides are equal.

(3) A rhombus becomes a square if all its
angles are equal.

(4) A parallelogram becomes a rectangle if all
its angles are equal.

Ammini is arranging 36 identical squares in

the form of different rectangles. How many

different types of rectangles can’'she make

with these squares ? (
(1) Eight

(2) Four

(3) Five &
4) Bix

Rubina started her journey by car at

61.

i e w8 7
s W g
2

36 .

(
*28
@) 32
(4) 26
Frafefea mferm # afyu
% TqF Rrenfefat # e
A 9
B 6
0 12 =
AB 3
FA 30
Tl JAfuE i TEd FH 9 I A1 T GGE
T YT T8 ? 3
(1 1:4 ’ \F
¥ y
( 3:1
fifafaa & ¥ Sl sv7 g 77 2 2
O R = v % wwgw B Tww F, @ ¥
T A 99 It B |

2) 3R TH s A gt et TR 6, ar
98 U 1 &9 Sar @ |

3) AR TF TS % aft B s &, ar
BT T T AR |

4) IR wF wuw I F o B s
&, 9 9% U Aq &9 o B |

A 36 TdEW T B ToM-ET THR F

mﬁmﬁam@i‘laﬂwﬁm

SIT-3TET ThH o fohe orra = el 2 2

(1) AL

@ SR
Q o
(4) ©:

16:50 hours and finished at 21:15 hours on the 5% ?41; g;“ 2?_1;6;? m:jr :;ﬁ :;T ‘{[{:g
same da.y. The time taken in completing the 3 Rrar W 3. X kA
Journey is : x " b

(1) dwurs 35 miﬂ:Jtes (1) 4% 35 fire A‘«S?‘; T 0y
(2) 3 hours 25 minytes 2 3% 25 fime 2% pg B3

(3) 4 hours 25 minytes 492 25 fime ﬁ“{“ '
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A whole number is added t, 100 and th
pumber is subtracted frop, 100. The :u:n:;
the two resulting numbers g, obtained is :

(1) 200 |

@ 0

@ 50

(4) 100

‘One hundred lakh’ is also known as :
(1) One billion
2) Ten crore

" (3) One crore

(4) One million
Which of the

represents a descending order of numbers ?
(1) 10-5,1-50, 1-055, 1-05, 1-005, 0-155
(2) 1-05, 1-005, 1-50, 1-055, 10-5, 0-155
@) 105, 1-05, 1-055, 1-50, 1-:005, 0-155
(4) 10-5, 1-50, 1-05, 1-055, 1-005, 0-155

Which of the following is not a factor of 3630 ?
(1 11

2 3

@) 5

4 9

e sinl GF B = 5t B — B # 5 =8 v
number of terms is : -

1) 15

2 o

3 -5

4) 5

following arrangements

P-VA

56, 100 ¥ TH T TEwm N e } oM R

wE 100 # & v & owh & | 7@ FHR W g
At FEATSAT AR R

® 200~

2 0

3) 50

(4) 100

‘o O o H Frafafaa 9 #@ ot S ST

el shn # Frefia wdt @ ?

10-5, 1-50, 1-055, 1-05, 1-005, 0-155
@) 1-05, 1-005, 1:50, 1-055, 105, 0-155
@) 105, 1-05, 1-055, 1-50, 1-005, 0-155
4) 105, 150, 1-05, 1-055, 1-005, 0-155

59. frafafiga # & $H-W 3630 F TH THEUS

TET R ? :
®» 11
2 3
@) 5

.9

1 15

@ 0

3 -5
5

o
\o°”° -°
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PART II1 / W 111
ENVIRONMENTAL STUDIES / wafertot steras

Directions : Answer the following questions by R : Aefifaa vt & s 29 & I
selecting the correct/most appropriate option. R fRwey gﬁq / '

61. A teacher wants to select synchronous 61. T% |i||illlil idqu firgon 3 ferg, )
communication with her students for teaching |y ﬂmﬁﬁi (e @

TR T

EVS. Which of the following will she choose et R ETB 2 ﬁ o 3 & B g
(1) Phone calls, pre-recorded videos, 4 &
tele-conferencing (1) B ®a, f-fwEde S , 3
(2) E-mail, social media posts, phone : @ i mmm’ mﬁa
(3) Instant messaging, blogs,
tele-conferencing (3) caftq dew, s, eI
»(4) Video conferencing, online chat sessions, ’ R aﬁ:ﬁ;‘%ﬂ, St ¥ o, e
phone calls 8

’

62. If theme Travel : Railway Station depicts|go, ﬂﬁwwméﬂﬁﬁ@ﬁ@wﬁ*
utilisation of a community resource in EVS, TS ¥ SYENT ) FwneT 8, df FEfafea § @

which of the following will complete — N T RO — off oIS 2
*(1) Agricultural farm @ S
(2) Forest ' ¥
3) ¥
(3) Shopkeeper 3
(4) Farmer ‘ R
While - |63, Sefum fRvegor 3 S, Tk frereh T S@H/SE ST
teaching EVS, a  teacher’s b it el X a5 SR X
statement/question, which encourages L
i students to elaborate on an answer either on ﬁw#ﬁwmﬁémmﬁami
:", their own or from the response of their peers,
"! is . @Iﬁlﬂ?i L
|| (1) Probing (2) Eﬁ'éhTﬁﬂ
(2) Conditioning
- (3) =
(3) Chaining
(4) Trial and error (4) wigor aRAR
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Sy, Anita prepares & unit plan to teach the theme

mﬁ; :i\:}::;::no;' the following will be the title
(1) Families : Migrating famjilieg

@ Types of Family : N uclear and Joint

®) Fam‘{ly * Relationshipg Wwithin a Family
(4 Family : Relationships, Gender Roles,

Oceupations, as socio-cultural entity in
changing times

Ms. Sheetal likes to use stories and poems in
primary classes to explain various concepts of
EVS. The most appropriate logic for her using
stories and poems is to :

A. complete the EVS syllabus as well as
students have heard them before coming

to school.

B. encourage the students to write their own
poems and stories.

C. make the students aware of diversity in
language and culture.

D. make the lessons
enjoyable and interesting. -

more interactive,
Choose the correct option :

(1) Band C

(2) Aand B

(3) B,Cand D

(4) A,CandD

ons is a major
lasses Ito V?

out hands-on

Which of the following Opti
objective of teaching EVS from ¢
(1) Acquiring skills to carry
activities independently | |
Preparing gtudents for studying science

at the middle level
-depth understa
he subject

(2)

nding of the

(3) Developing in

basic concepts of t
Helping learners link classroo
to life outside the school

learnin
(4) P T

64.

P-IVA

arefrert afta dtmmt agr ¥ fer o wT o
i et 8 | Preferft # & ofr-on o v
v & wftden g 2

(1) qﬂ?rtgd'gqﬂart

) ER % YR ; vsher 3R dg

@) IRER: uF qfEn F Hia @&y

@ v W, foim sy, s, F
w & arnr-atep s g & 9 o

st wfieer $eftam o it sraumonAT H

auE ¥ fre grufies Faredl § F@tEr R

IRt T AT FHEAT THE FA § | I FR

TRt 3 HfaTei 3 ST 1 TR I qh

2

A Sefug % UrSEsRT YO0 T 1§ A

forenfoft @1 e & o7 & T SR A

BT Y

B. faenfiat &t ot fdarel M Herfaan
% forem & g Mearfga FT 1

c. frenfit = v it wewfar 3§ fafoaar
TR T TUTEH ST |-

D. U # AfE HaRTAE, gEe AR
oo sAmT |,

H%‘Tﬁmgﬁrq:

(1) B3RC

2 AS3NRB

(3) B,C3RD

@© ac3swp

fffer da s fFr s 1@ v @

$ofi T 1 T e SRR 7

(1) @Ed €9 Y ATaeieh s w &9
& fore shverer ww FET

(2) forenffEt # fafee wv W g v &
ot wEr

@ Ffwa @ qu srumone f TET W
fersrfRra & |

O

freniiflt = e & At # wHw
HTET & S & e § 7eE HET

*
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An EVS teacher demonstrates an experiment
in class in which an egg sinks in a tumbler
with water, but floats upon adding salt to the
water. Which of the following is the most
appropriate explanation she can give to
students’ enquiry ?

(1) Allow each student to conclude on their

own by adding different items in water.

The egg floats due to density of water.

You will learn the correct reason in
higher classes.

Conduct and observe the experiment with
different amounts of salt,

(2)
3)

(4)

Read the following statements and choose the
correct option :

Assertion (A) :

Learning of EVS needs to be oriented to
process skills relating to observation,
identification, classification, etec.

Reason (R) :

Through acquiring various process skills, the
learning outcomes of EVS learning are
expected to be achieved. :

(1) (A)is false, but (R) is true.

(2)
correct explanation of (A).

3)
not the correct explanation of (A).

(4) (A) is true, but (R) is false.

An EVS teacher should lay emphasis on
while preparing question paper for

summative assessment

(1) Length and objectives of the question

paper

Content coverage and objectives of the

question paper

(2)

(8) Total marks and content coverage of the

question paper

(4) Length and total marks of the question

Both (A) and (R) are true and (R) is the

Both (A) and (R) are true, but (R) is|-

(20)

67.

68.

Paper

ST AT Tahef} 2 9
1) A% fyemeff sy et & fafir=r et

ST T Fepe e € |

Ut % Seg % sy SfST aaT @ |

1T T by i e T AT |
S-S T & A0k WA AV
I IHT SFTAFA FL|

fFrafafaa A1 % afer qon ot favew &
W*‘ﬁﬁﬂ{:
3HFeT (A) :
$diug & di@a S AT, Tg9H, S,

T & Heiftra sl e & foe 3@ a9
ATETIHAT R |

PR (R) :
fafsr=T wfsham @terer g &6t & Aream 4, Sdfted

& diEe & gRomat i gt FE A dE

Gt T

(D (AT R, T (R) TR |

O Wi ® I wd & a @), @)@
ARATR |

@ (A I (R) W T F, TG ®), @) R

Tl ST Tt R

(A)FE R, W (R) T 2 |

(3
(4)

(4)

T i R @ dimers oA & fag
99 U9 R w96 W SR T
a1fe |

(1) 999 95 I da18 o /|

O v T F gl FRw o R

(3) S A o A ek ST ATt e

(4) T A H HaTE AR FA 3F
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70.

71

72.

- o.f o following iq n
outcome EVS for studentg of g: 2 learning
ass I11?

(1) Voices opinion on
good a
@) Voices nd bad touch

Opinio,
N on igsues

observed/experie
nced
practices and relates to social

such g !

s  discriminat;
z 1minat; y
ownership of resources lon 1n

e .
outdoor games W local, indoor,

(4) Identifies directions of classrl'oom

You have to select EVS textbooks for your
students of classes III to V. Which of the

following criteria is most appropriate for this

purpose ?

(1) Pictures in the book should be big and
colourful.

(2) The language should be simple and
according to the mental level of students.

3) The textbook should be illustrated and

appealing to students.

(4) The textbook should be child-oriented and
devoid of any stereotypes 0T derogatory
attitudes based on gender, caste, class

and religion.

Read the following statements and choose the

correct option :

Assertion (A) : )

At the primary level EVS has themes instead
of topics.

=i easy for

Jearning 18 ,
Theme-based EVS s as compared to topics.

teachers and studen

(1) (A) is false, but (R) is true-

() Both (A) and (®) 8¢ true 8

correct explanation of (A)-

e,
@) Both (a) and ® tfﬁ of (A)-
not the correct €*P natl

(R) is fals®

nd (R) is the

(4) (A) is true, but

70.

71.

72.

P-IVA

s 111 frenfidt 3 ferg et & v
# & #-a dia 1 o (@ S
T 27
are 3T L et o o T A F
@), A Ty R e T T S ST
it T B el & defa N S

() o Tl T wEE FA

aﬂaﬁaﬁmm@rvw%aﬁﬁmﬁ?ﬁ%

oy $efiom TreE-TRl T mi% | |

ﬁw%mﬁmﬁ@ﬁﬁﬁﬂ}wmg@

1y e i R afc o A e

@) -meﬁaﬁﬁ%mmw%
ST B et | '

3 W-gmmaﬁa%aaﬂ;ﬁaﬁﬁ%%q
ST BT e |

Wiﬁﬁfﬂl:

TFHI (A) : )
wﬁﬁmméﬁ@ﬁﬁ@%msﬂq%
;Hﬂ'g(% i ofm-smenfia $efeg diE
ﬁmﬁaﬂt%%ﬁmﬁn
(A)naﬂ%,qr@(mai’r% |
(A)W(R)&ﬁﬁé’r%wm), (A) FT TE
TE € | :

@A) 30T ®) _FEA 3, T (R), (A) H
e e T

O ) S, T R T

(D
(2)

(3)
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74.

75.
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(22)

You want to encourage hands-on activities for
students of EVS. Which of the following is the

most appropriate activity ?
Map reading from a globe

Collecting coins of different countries

¢}
(2)

(8) Developing an EVS kit from available
material
Drawing parts of different plants on a

chart

CY)

Formative assessment of EVS is
A
B.
C.
D.

Assessment for learning
Assessment of learning
Assessment as learning

Assessment about learning
Choose the correct option :

(1) CandD

(2) AandB

3) AandC

(4) BandC

Read the following statements and choose the
correct option :

Assertion (A) :

Field trips are an effective pedagogical
strategy in EVS.

Reason (R) :

Field trips promote memorisation of objects,
events and places.

(1)
(2)

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(4) (A)is true, but (R) is false.

74.

75.

A ¥

freferiaa womt o afge o wdt fashea =
Wﬁﬁ’lﬂ::

I (4) :

SoTCE 7 & o st ot R E |
R (R) :

BT ST S, el sitt Tl it Araewa
1 TG e & |

(1) (A) 7T ?, T (R) T 2 |

. (A) 3R (R) ST =&Y & 99 (R), (A) T T
TR |
3)

(A) 3R ®) I W& ¥, g ®), @) F
e sy e R

@ (A)TER, T (R) Terq 2 |
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1.

78.

6. With respect to Gujarat, the locations of

(23)
76. W%ﬂ%ﬁ,mmmmﬁmﬁmz

and Andhra

Uttar  Pradesh Pradesh,

respectively, are :

@ North-West; South-West
(2) North-East; South-West
(3) North-East; South-East
(4) North-West; South-East

Rama plays cricket with his friends every
evening. Which energy does he use to play
cricket 7

(1) Light energy

(2) Chemical energy

(3) Muscular energy

(4) Sound energy

When we burn fuels we get :

(1) Only light energy

(2) Heat and light energy

(3) Mechanical and light energy
(4) Light and sound energy

Which one of the following is ‘sticky rice’ and
is a common variety of rice in Assam ?

(1) Bora rice
(2)
(3)

(4)

Arborio rice
Bomba rice
Ponni rice

Select from the following the best period of
the year for the people of Bihar to start a
bee-keeping programme :

(1) October to December

(2) February to April

() April to June

https://t. ne/UPTETCTET super

717.

78.

79.

80.

(4)  August to October

(@)

V‘: -

P-/A

fRufoaf & :

(1) Jat-ufyem; gféorafrem

2) IW-Yd; Ffeor-afeem

‘ JA-gd; aferor-qdf

(4) Sogfvem, gfiuqd

1T Telish ST 3T 379 dredl & Ay fohdhe @erar
2 | o fipdhe Qo § H1-H Sl BT ST HLAT
27

(1) WRIT Sl

(2) TETEE el

‘ Hiea It it St

@ @S

5 B9 349 STd & dr el T e 38§ -

(1) oheret JhTST Sl

(3) itk T WIS Sl

(4) RIS TS Al Fell

frafafaa & @ S9-H s/ & @ 9 I
Tradl i Th g e @ S Yo & a1
et (fRefh) s & 2

‘ ETECI I

(2) SREHE ==

(3) N EE

QI =T

e Tew & o & fou FefaRed & @
YA -IIe FEET AT WA F a§ Hi
GEREEICIBRCIE

‘ ararza & faman

(2) O e

3) AT

(4) T H HFZ
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(24)

Match Column A and Column B :
Column A Column B

Cumin Appears like a nail

Saffron Originated in South
America

Chillies III. Yellow in colour
Clove IV. Small but fragrant
A-l, B-III, C-II, D-IV

A-IV, B-III, C-II, D-I

A-I1I, B-IV, C-1, D-II

A-IV, B-1, C-I11, D-II

|
IL.

A
B.

C.
D.

(1
(2)
(3)
4)
The coastal State/Union Territory of Bay of
Bengal is :

(1) Odisha

(2) Karnataka

(3) Kerala

(4) Telangana

Consider the following statements about
forests : '

A. ‘Torang’ means forest in Kuduk language.

B. The Village Council (Panchayat) in
Jharkhand decides which family will get
how much land for farming, by lottery.

C. The Right to Forest Act, 2007 gives the
rights to people who have been living in
the forest for at least 15 years.

D. A_bout three-fourth people in Mizoram are
linked to the forests.

The correct statements are :

(1) BandC

(2) AandC

(3) AandB

(4) Aand D

What is the mass of an object with a density of

24g/mLandavolumeof6mL?

(1) 146¢g

(2) 142¢

@) 143¢

(4) 144 g

8i.

82.

84.

(]

WAWWBWWW
™ B
@ A
B. %@ 1. 2ot srife & S
c. fd II. et {1
D. o IV.., BT g IR

(1) A-L B-III, C-I1, D-IV

® A, BIH,CIL DA

(3) A-III, B-1IV, C-1, D-II
(4) A-IV, B-1, C-III, D-IT

ST Y W e T /hex- T Sed
i : iiq \E
aAfesH
g FARLH
(8) A
(4) AT
st o o ® fFreferfiaa et w R i

A, FgH T H TRAT o AT ST § |

B. 9RES ¥, 7 qiNg (F=) sied & aream
¥ 7e 7 w2 o fr ofar 9 S
fere forerft sy fereefy

C. S AFR FE, 2007 3 @FF A
AR fammar & St wH-dwy 15 987 &
A T ERE |

D. sty & e div-sherd
e ‘

gqﬁqg"rmqﬁ

(@ B3RC

@ Asfc

(3 AIRB

‘ A3 D

24 g/mL 90T 3R 6 mL AT Ty
FSAHT T 81T 2

(1) 146g

(2) 142¢g

(3) 143 g

T Sireit & 3

%] T
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87.
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(26)
g5, @it & ant & P st o Rrem Hifire

Consider the following statements about

snakes and identify the incorrect one from
the following :

(1) They swallow their fooq whole.
(2) Snakes have sharp teeth.
(8) Poisonous snakes have fangs.

(4) They chew up their prey.

Bronze is an alloy made by melting the|86.

following :

(1) Tin and copper

(2) Copper and zinc

(3) Aluminium and zinc

(4) Zinc and tin

Select the correct statements about elephants

from the following :

baby elephant

A. A three-month-old
generally weighs about 100 kg.

B. An adult elephant can eat more than
200 kg of leaves and twigs in one day.

C. Elephants do not rest very much; they
sleep for only two to four hours in a day.

D. Elephants like to play with mud and

water.
(1) Band D
(2) AandB
@) AandC
@) CandD

87.

P-/A

ot et # & mrere v 1 R difor
(1) 339 e () g e I # |
(2 WHiGATTAATIE

(3) SR |fdl % e ATl A B € |

@ & A T E e

T () @ frrerg @ Ry Frafafea 4 @
fare fTTaRt ST AT 8 2

‘ﬁ?aﬂtﬁw
@ w3 R
@ g s
4) fow R

Frerferfiae & & wriEt 3w & Wt o 9T

A @ TR F Eeft & S @ a9 A
ST 100 fehetiTe ST 2 )

B. Fa&h weft @ & # 200 framm @
arfereh wftrt st it =t @ v 2 )

C. wa@mmﬁmﬁ;aﬁ?ﬁ
AAIRIR AT L

D. it g I & G TE HA F |
(1) B3RD
2) AIMB
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(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(4) (A)is true, but (R) is false.

90. Consider the following main functions of
plants :
A. To produce and store food
B. To give strength and support to the plant
C. To transport water and minerals from
roots to other parts of plant
The main function(s) of the stem is/are :
(1) OnlyBandC
(2) Only B
(3) Only A and B

(4) A BandC

P-/a (26) %
88. Consider the following statements A and B: | 88. fr=fafea wu=t A A B @t fFmm AR
Statement A : PYTA
In Manali, houses are constructed with wood, THATAT if, E'IFLE?ﬁ CI| LEEG dfat F @i ey
slanting roofs and elevated on strong bamboo £ Ry Y AHE & I TG I (4
pillars. FYIB :
Statement B : AT # SR g et & oftt adh oft vt 1
Manali receives a lot of rain and snowfall. et ey gﬁ-[{ .
Choose the correct option : i 1) A?ﬁfﬁ% ‘Tlf_g'B'Fl'Eﬂ'%
(;)) g:; i:;oorr:th, but B is correct 2 AIRB a:h"ﬂ'tﬁ%,
; i @ 2B aiTeRE.
(3) Both A and B are incorrect Sy 5
(4) A s correct, but B is incorrect A 5, g B! =
89. Tr=fefaa el =t yfew ot wet fasew =
89. Read the following statements and chooge the WW :
correct option :
Assertion (A) : IR (A) : )
On applying pressure, gas can be compressed @ T W, A H A & wefifea e s
easily. qFare |
Reason (R) :
When we apply pressure to a gas, the PRI (R): -
intermolecular space between gaseous siar g forelt iy X gee e g, A ety ot &
particles decreases and it gets compressed. aT W M 9 8 GTI?IT 2 3k I8
Frar & wfifea g e

(1) (AT, T R) TER |

O @ 3R ®) I W E T (®), 4) T
ATEAT R |

@ (@ R (R) I W ¥, wY ®), @A)
el T 7E R |

@ AWEAR, Wy R TR

et % Feforie e wmEt o fRem it

A, YISH T IeqTET 3R TSRO AT

B. U @l vtk o memr 3T

C. WY F I WH FI TS ¥ T 3k @i
T TIFTAOT HEHT
%acl B 3R C

(2) FIAB

(3) FacTAINB

(4) A,B3RC
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(33)

iV
WI
Rdw : Refilea w41 & & R e
: W ko
gﬁﬁﬁﬁ(’/ wgl 95.
91. 39 gfth 1 997 Fifoe st = IR
?mﬁn R N
0TS W &1 Ff5d W@l 8, A 39 919 H
mr@a‘ig"ﬁwwm’g #
(1) T-MTNI-SIEGER (SR ST)
(2) I HFEAT N
(3) T FAT (ST
4) -l .
92. HET II ¥ Tt us Haar m © € - “ag 78
T 2, T WM |7 T€ FHIq TR T S T H
1 3 1 A o 2, 39 3 oy i Fa E
e fong farftr s s s o R @ 2 2
1 RREwTTE 96.
(2) %A-

o3, Tremelf et whré & Teq AL i S % I
a{gﬁ%ﬁaﬁrmaﬁt@%lémﬁmaﬁ
a@mﬁ%ww-aa%ﬁm%%aﬂrwﬁ
£ 3 33 B AR F@ § | T TR ST
R
(1) gt AT
2 AT

(3) W—‘lﬁw (‘ﬁgh)

(4) 9B 3Thetd

P-IVA

frafifas FuAt # afye qur a@d s &
a'a'-raﬁﬁrq:

e (A) ;

el § Ew w0 g oft a= A A9

SR T & & el g1 € |

ﬁa@ B wregfos fafagar & 3

St e e € AL I |

) (ATEAE, WA R GET |

@  (A) 3 (R) 3T WEY & T (R), (A)F F
1t i I

@ (&) 3 @ @ §, wg®, @ H
wE oI 78 2

@ (WER, g ®) TR

mvmﬁsﬂaaﬁmﬂmﬁ?ﬁﬁ
mma,mﬁﬁﬁﬁ@gwmﬁaﬂt@
Aty T & TS T WE F A HT E |
R Rfirit & T @ T R wE d
T & | ST 6 59 9T Y o ST S
t S

(1) 9T

@ Wehfaar!

(3) A9

(4) SUAFAER!

. wat g i e e et A=

nf ot X g S e & S T A1 36wl
el e @ & o v s A
§ | 3q 9@ P A T€ AP B, HH IaH
a2 fF w3 o IREr iR FEA F
e a7 T Py v (et ) BT & 2

(p wGANER
) WHeESaTE (NEHaar)
(3) HAIAEREQ
(4) TEAMERE .
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98.

100.

101. Frafafaa wuat & afew oo ot fawew &t

& 36 ﬁwﬁﬂﬂﬁ‘ﬂﬁm
e o 3 et s 4 A
< e % oreTaRE where & g RS SE
TR ?

(1) Wm
@ IR (FHEIE) WHIEH
@ T gt
(4 IR URH

et e G TEE Fl ¥ | T A W A
ﬁgﬁﬁamﬁaﬁﬁvﬁﬁamﬁ,aﬂt
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(2) Hisd YA

(3) WIETYST .
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(1) ITEATToRT YETYE W vTes 1 oy for@ ik
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‘¥/(/ (88)

PART V

LANGUAGE II
ENGLISH
122. Which of the following statements are

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 121 to 127)
by selecting the correct/most appropriate option.

Father would dress himself for court in a
brightly coloured dhoti, a matching white shirt
with an equally bright white turban and @ neat
black coat. The paraphernalia to court would
include a cloth bundle containing court papers and
a basket containing hot coffee with tumblers
and plates for tiffin given by my mother or
sisters-in-law.

The younger advocates of his time were great
admirers of my father and used to listen to him
with rapt attention whenever he rose to address
the court. His arguments were folc_e_ﬁ’xl, coherent,
cogent, mg_dsive and conclusive. The arguments
would go on till about lunchtime and even the
English judge used to take down notes of his
points,

One client was particular that my father alone
should argue his case. On the day my mother died,
this case happened to be on the cause list. My
mother was alive when my father left for court at
10 a.m. that morning and he had told my brother
that he would return as soon as the case Wwas over.
Unfortunately, she died within an hour of his
departure. .

With some difficulty, the news was conveyed
thmuch an advocate in court. My father, however,
mnnguad his arguments without showing any
emotions. Only after concluding the case did he
get back home to the room where my mother’s
body lay and stood in stoic silence. _

121. Father was very particular about dressing :

(1) :sdl:a Wanted to follow the proper dress

(2) to impress the judges.
(8) to impress his family,

(4) as he was rich enoy
gh to
clothes, buy good

CLICK HERE TO JOIN TELEGRAM

123.

124,

125, °

true/false 7 ]
A Father avoided eating m the court

canteen.
B. He liked to drink hot tea during the day.

C. He carried case files wrapped in a cloth.
Choose the correct option :

(1) A and B are false, but C is true.

(2) A and B are true, but C is false.

(3) ' B and C are true, but A is false.

(4) C and A are true, but B is false.

Which of the following statements is wrong ?

(1) He was the preferred lawyer of some

clients.

(2) Young advocates wanted to learn from
him.

(3) Only a few were jealous of his popularity.

(4) He argued his cases logically and
persuasively.

Which of the following statements are
true/false ?

A Even the judges recognised his legal
acumen,

B. He preferred his legal obligations to
family obligations.

Choose the correct option :

(1) Both A and B are false,

(2) Aistrue and B is false.

(3) Bistrue and A is false.

(4) Both A and B are true,

His  arguments
]

were  forceful, coherent,

(1) calculating
(2) reasonable
(3) crazy

(4) witless
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............. a bundle containing court papers.”
The underlined word is a/an :

(1) Adverb

(2) Noun

(3) Verb

(4) Adjective

(39)

‘One client was particular that my father 4

.......

The underlined expression is a/an
clause.

(1) Adverb
(2) Principal
(3) Noun

(4) Adjective

Directions : Read the passage given below and
answer the questions that follow (Q. Nos. 128 to 135)
by selecting the correct/most appropriate option.

Dorothy lived in the midst of the great Kansas
prairies (grasslands) with Uncle Henry, who was a
farmer, and Aunt Em, who was the'ﬁa'r;er’s wife.
Their house was small, for the lumber to build it
had to be carried by wagon from many miles afar.
There were four walls; a floor and a roof,"which
made one room; and this room contained a rusty
looking cooking stove, a cupboard for the dishes, a
table, three or four chairs, and the beds.

and Aunt Em had a big bed in
one corner, and Dorgt_}ly a little bed in another
corner. There was no garret at all, and no cellar —
except a small hole dug in the ground, c?lled a
cyclone cellar, where the family could go in case
one of those great whjrlwinds. arose, mighty
enough to crush any puilding ir} its path. Itﬂwas
reached by a trapdoor in the middle of the dooxl-;
from which a ladder led down into the small, dar

hole.

When Dorothy stood in the doorway and

looked around, she could see nothing but the greaf

. p t a tree nor a house
gray prairie on every side. No at reached

broke the broad sweep of flat country t The sun
to the edge of the gky in all dl.rec'l;lonﬁi-ay o g
had baked the ploughed Jpid. 1ok a'tgrEven the
with little cracks running through ; purned the
grass was not green, for the 81" ht:he game gray
tops of long blades until they Wer™ the house had
colour to be seen everywhere: Once

aint and
been painted, but the sun us

Uncle Henry

and now the house Was

blistered b
the rains washed it awaY>
as duu and gray as everythmg else.

P-V/A

128. Which one of the following statements is true ?
(1) Uncle Henry’s house was freshly painted.
(2) Dorothy’s parents were rich farmers.

(3) Uncle Henry had a big farm.

(4) She lived in a small and shabby house.
Which one of the following statements is true ?
(1) There was no tall tree near the house.

(2) The house was a comfortable brick house.
(3) It was made of wood, as wood was easily
available.

Dorothy slept in a big wooden bed.

129.

4)

180. Study the following statements :
A In the vast grassland, Uncle Henry’s was
the only house. '
B. There was sun-baked gray grass all
around. '
C. In the middle of the prairies was a green

field ploughed by Uncle Henry.
Choose the correct option :
(1) A and B are wrong, but C is right.
(2) “A and B are right, but C is wrong.
(3) B and C are right, but A is wrong.
(4) A and C are right, but B is wrong.

Study the following statements :

A. Uncle Henry had a tractor trolley in
which wood was carried.

B. The wood for the house was carried from .
far away.

Choose the correct option :

(1) Both A and B are wrong.

(2) A isright and B is wrong.
(3) Bisright and A is wrong.

(4) Both A and B are right.

132. Which of the following statements are true T
and which ones are false (F) ?

131.

A. The fear of a cyclone loomed large on the
family.

B. They had built a shelter for protection
against wind and rain.

C. Around the house there was nothing to
reduce the impact of a storm.

D. Their drawing room had only three or
four chairs.

Choose the correct option :

(1) TFTF

(20 FTFT

(3 TTTF

(4) FFTT
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P-l/a (40) Eﬁ
133, < with Uncle Henry, who wag a farmer.” |138. A teacher is planning to give a free Writing
The underlined word is a/an dnuss. task to learners in Class V. Which one of th,
(1) Adverb following should be focused on most by the
teacher ?
(2 Principal (1) The handwriting of the learner
(3) Noun (2) Accuracy of the content
(4)  Adjective (3) Fluency of the content
134. ‘a cupboard for the dishes’ (4) Both fluency and accuracy of the content
The underlineq word is a/an 139. Top-down means ‘attenq to the overy
(1) Article meaning’. What doeg ‘bottom-up’ mean 2
(2) Conjunction (1) Focu:i_ on asking short answer type
uestions
3)  Preposition (2) g‘ocus on the gist of the text and abstract
(4) Adverb N ideas
135. There was no garret at all, (3) Focus on pre-reading
The underlined worq nearly means the same ) _ f‘ec;::tus on the words and phrases of the
asa 2
(1) pantry 140. Which among these is the Primary
@) Iloft ‘ responsibility of the language teacher 2
3) study (1) Instructing the learners
@) toilet (2) Identifying the learner’s communicative
needs _
Directions : Answer the following questions by (3) Selecting suitable content for teaching
selecting the correctimost appropriate option, (4) Grouping learners into different classes
136. While Planning lessons for young learners, the [141. A young child picks up a book, holds it right
teacher decided to focus on the Total Physijca] Side up, and turns the Pages. These activities
Response (TPR) method. Which one of the demonstrate ;
following should be useq to include TPR in the (1) emergent solution skill
lesson ? (2) emergent literacy skills
(1) Must keep activities aside and insteaq (3) emergent curriculum
ask questiong and motivate them to (4) emergent Properties
respond.
(2) Must ensure to aqq Some bodily activities | 142- Read the followin
in class,

137,

Choose activities that help them stay in
their seats and work in

pairs or groups,
Must add some listening activity in clagg,

(4)

(3) Inductive
(4) Communicative

8 statements ang choose the
correct option :

Assertion (A) :

environment doeg not
Reason (R) :

The learner-
anguage acquisition.

(A) is false, but (R) is true,

Both (A) and (R) are true and

correct explanation of (A).
Both (A) and (R) are

not the correct explanat
(A) is true, but (R) ig fals

(R) is the

true, byt (R) is
ion of (A).
e.
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144.

145.

1“.

understanding the meaning of words from the
context in which they appear is :

(1) Structural approach’

(2) Communicative approach

(3) Bottom-up approach

(4) Whole language approach

The ability to think and talk about language
is:

(1) Metalinguistic ability
(2) Phonological awareness
(3) Proficiency

(4) Emergent literacy

A mother asked the teacher of Class IT how it
was possible for her child to sometimes say
things that she had never heard any adults or
siblings say. How is it possible ?

Which one of the following is the apt answer to
this question ? |
(1) As per the constructiyist approa

children can invent new languages.

(2) Children learn language only by
imitating adults.

(3) The human brain is innately wired to
learn language.

(4) A child learns language when we

reinforce the development of the child’s
language.

A technique used to facilitate early literacy,
which involves an adult and a child lookin.g at
a book together while the adult asks questions
and encourages a dialogue, followed by
switching roles 80 that the child asks
questions to the adult, i8 called :

(1) Storytelling

(2) Model reading

(8) Shared reading

'(,4) Dialogic reading

148.

149,

150.

ning skills of
language learners by :

(1) making the learners listen to everything

they hear passively.

speaking continuously to learners both
within the classroom and outside.
focusing only on listening skills without
associating them with other language
skills.

creating opportunities for learners to
listen to a variety of language sources
and people and engaging in other
listening activities.

(2)

(3)

(4)

Read the following statements and choose the

correct option :

Assertion (A) :

Accuracy in language is most important at the
primary level.

Reason (R) :

Grammar is an integral part of the primary
curriculum.

(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.

3

4)

Theoretical positions and beliefs about the
nature of language, the nature of language
learning, and the applicability of both to
pedagogical settings is :

(1) Technique

(2) Syllabus

(3) Content

(4) Approach

Formative evaluation is :

(1) not subjected to change.

(2) what is happening
teaching-learning process.

related to ongoing development and
improvement. «

carried out at a pre-specified or particular
stage in the course.

in the
(3)

(4)
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